YRk 2 1 EERSEESEEHTAN (7F—F =V —) K=
(B #% & B) —10A208IE: BEE—
B OB ER21410A4H
B OH AHEBHAET —F = U —5
5] & (50m -+ 30m)

B+
B K 4 B OF & |FH®R| BARK |HEEF
(kAL 34)
F oME K & 1 599
1 KOSHEH [R R 15 2 447118234
iz | SN | 6109
A S R § 2 6 05
¥
JEAL | K & B OF &£ |ZF| BAR & & &
(kAL 34)
moEE & 2 6271
1 KRB | B MR = 2 6 26|1887%8
A % B E&EE 2 624
T B £ X 2 592
& A
BF+ (3 0m-+* 30mDIE)
NE AL K 4 ERA| FE 30m 30om| & s
1|/ 3 B HE|X 5y 1 327 333 660
2|/®@ F - M 1 287 3009 596
3({m H E2 I N 5 1 290 295 585
41%& M — BB H 1 273 287 560
5|& B BEB|M £3] 1 283 267 550
6|H W & AlRXDHEH 1 255 290 545
7Tl E ok # T B EE 1 243 246 489
JI kB X T H 1 159 179 336
Z+ (30m-=30moDIE)
NE AL K &l BRAE|FF 1HB 2ABE| & &t
1|/ & EEE|AT H 1 288 299 587
2|®m B ¥ Bl XKHEH 1 264 290 55 4
3|E sk W W H 1 250 258 508
alT #E oA M 1 208 256 46 4




Br (7o)

J[=giva K &4l FRA|FFE 7 0m 3:0m & Bt
1lF B B #X ol 2 289 338 1 2
2| B O ORI M 2 282 334 1 2
3% M K H|KRHHEH 1 301 328 1 0
4|1 £ & R 55} 2 273 330 1 8
5[k = | KOS 2 250 327 1 5
6 |8 B M A|KRHSEMH 1 277 331 1041

TF (v 7 D)

JE Az ®K | ZEHML|H®E|l 70m| 60m| 50m| 30m = B
1m B ® Ty KRR 2 2931 323 308 333 1257
2|t B EZE|RTEH 2] 297 318] 291} 338 1244
3| B M | KHEHA 1] 299| 3051 291| 328 1223
4= B X E|KLSEH 2] 298| 289| 263| 333 1183
5|1% B ¥ FH|RKOHEH 2] 287 315 261] 319 1182
6| =EH xx F[X sl 2 272 291 256 318 1137
7\ B T OEKRSEH 2]l 272 290| 250(300 1112
8|8 JII B BEF| BAF L 2] 242 252| 251|305 1033
9l W #H H|KRKDHKEH 2] 205 245 244 299 988
10 X 8B\ FI|X 5 21 1491 184} 159|193 6 85

FUIN K& B E
SIS

BF KRHOEBEHEK ZF KA EHEK
F oM K H-& XK ] B Ty -t R
B OEF O OAN-ZE K F 2 =
B\ A
30m-+*30m
BF B ¥ OB = (Ka9) O OEERE (THE)
iz IS & (FrE) i £ (E®)
i ! Mo (k) e & (vrm@)
N VA By AV N
BF & B E # (k&) E (R9)
OB = & (ffH) M (KR57)
oA F R (ir|) ZE (EH)




